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AUTO THERMODYNAMICS-I

fuffmam . 39 [ATrhaT 37 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
qAe: () FHEAATIEAY feg

Note : There are three sections A, B and C in the paper.

(ii) QFH CH 397 G&IT 1 & T 10 Y77 & IR T | IF Y77 Q@ 3% B & T
G110 977 FGHY YHR & Tl 5 8 |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QT W 8 FoI 7 8 frgl 6 I & IR AT | FAF I 3 37%F HT B TT
ST 5 T15/50 ¥15g) § IR G197 |

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) Q% 6 351 7 8 81 4 3971 & IR H0 | T 797 8 3F FT 8 T
577 15 S137/150 Irsg1 7 3w e |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

(v) TRF G & G 597 1 HATR U G §T o |

Solve all the questions of a section consecutively together.

(vi) @1 gTeIs B 3R 817 #1 [t 7 37Esh srgar @ A= 8

Only English version is valid in case of difference in both the languages.

YR/A —T
SECTION - A
. () ddifed smepfoes Ae (.ea.sf.) o qgea: 8 &
(a) T (b) U
() e (d) =LA
C.N.G. mainly contains
(a) Ethane (b) Propane
L Byt L (¢) Methane (d) Butane

(10f4) P.T.O.
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(ii)

(111)

(iv)

v)

(vi)

(20f4)
7 4 9 % 31 -l Hofl 1 a8 ?
(a) RSl b)
(c) ftared gem (d) g
Which of the following is a non renewable source of energy ?
(a) Wood (b)  Sun
(c) Fossil fuels (d) Wind
3= T T B AT GE i HET ST ¢ |
(a) TId: yafdd egd (b) Torepie
(c) 3ot e (d) e EE
Combustion that takes place at high speed is called
(a) Spontaneous burning (b) Explosion
(¢) Incomplete burning (d) Rapid combustion
YIS $9 o ford efted Irgura R 2
(@ 3T6d® (b) 8T 10d®
(¢) 20830d% (d 158204
The compression ratio for petrol engines is :
(@ 3to6 (b) 8to10
(¢) 20to 30 (d 15t020
T HTLeL 1 T fehaehl 3mmafd s & fore Reamsman 2 ¢
(a) I 3N EEA deF (b) a3k et
(0) UgI 3R T A (d) T 3Ty
A carburettor is used to supply
(a)  Air and lubricating oil (b) Air and diesel
(¢) Petrol and lubricating oil (d) Petrol and Air
foret aTga % Tremm @ Srfafter Sue o Sum oh) § ST Yo IR 2
(a) T TEURY S ATEEH Y (b) I TS Y & HILAH Y

(c) rfcrag qrey & weam @ (d) <INUTUTEY o HeAw |
Through which pipe is the excess fuel sent back to the fuel tank ?
(a) Through low pressure pipe (b)  Through high pressure pipe

(¢) Through overflow pipe (d) Through suction pipe
(vil) Ueh STCIHIETSST S5 <h Fffeh S&TdT TR T Bt g |

(a) 50-60% (b) 60-70%

(c)  70-90% (d)  90% ¥ 3Tferes

Mechanical efficiency of an automobile engine is usually

(a) 50-60% (b) 60-70%

(c) 70-90% (d) more than 90%
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(3 of4)
(viii) 5§ faevet 59 it ! faerifa o & o 9id wlie femn a2 |
(a) 3E.T=.H. (b) TH.T=H.
(c) siuadl (d) <
Morse test is carried out to determine of a multi cylinder engine.
(a) LH.P. (b) F.H.P.
(c) B.H.P. (d) Efficiency

(ix) ST~ formg o SR H 37T 6o &

(a) STC1 o1 Shif=ieh €19 221.2 9 2 |

(b) I o ToTQ shif=ieh Q9| 100 °C BT & |
(c) T % ToIu shif=ieh qTo|T 374.15 °C. BT 8 |
(d) Tel 1 3hif=ieh A 0.0032 m/kg & |

Incorrect statement about critical point is

(a) Critical pressure of water is 221.2 bar.

(b) Critical temperature of water is 100 °C.
(c) Critical temperature of water is 374.15 °C.
(d) Critical volume of water is 0.0032 m3/kg.

(x) Treferfga & @ o Siger Suame= T8 8 ¢
(a) WwiET (b) W
(c) T (d) T AR
Which of the following is not a boiler accessory ?
(a) Feed pump (b) Steam trap
(c) Mud hole (d) Steam separator
Yo — it
SECTION - B
2. 3. IS g Ve SeHi ol AW fTReT |
Name the fuels used by 1.C. Engines.
3. .. s A gfled U R BAT R ?
What is the compression ratio in .C. Engine ?
4, 3o U Sfiaer gueft 6t eyl wi gl @ ?

Why cooling system in the engine is required ?

5. TR T Y 379 I GHEA § ?

What do you mean by morse test ?

6. EIEATR IR ?
What is a boiler ?
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10.

11.

12;

14.

15.

EERICIE I
What is brake power ?

34 o 37Tk <l THETST |
Explain fire point of the fuel.

AT T T TR ?
What is heat balance sheet ?

Qe —
SECTION — C

TS TG Uglel $o shl HRIYUTTert o1 wfes quiT Sifsm |

Describe working of four stroke petrol engine with sketch.

gt 51 3 0.0 0%, 317, JorTed) 1 wRIwuet S g hifa |

Describer working of M.P.F.I. system in petrol engine.

STl 1 arfientur fear & SHesy |

Explain classification of boilers in detail.

JAIGE §57 o [oT4 $4 o YOI 3TTaIvdh 071 bl HHETT |

Explain the basic required properties of fuels for I.C. engines.

ST G S¥oh TSR shT ATO a T ST & 7 Tmgisu |

How brake power is measured by dynamometer ? Explain.

o W e fewfrmd forfae : (w1 Q)
Write short notes on following : (Any two)
(a) U &1 ST AR

Heating Value of Fuels
(b) TEH &S0

Properties of Lubricant
(c) Al garar

Volumetric Efficiency
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